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&5 X 4 ia; Tﬁn“ﬁzﬁ\(i)mﬁ%ﬁ jj(giacr:f)é X 4 ‘Fﬁﬁﬁzé\%l;g)n;kqi ia; jj(lfl?litr’f)é & 4 ia; J:ﬁn“ﬁ;b\(‘z)ant?% jj(giacr:f)é X 4 J:ﬁﬁh\(‘z)(btt?%' ia; j:(:;?ﬁé
P 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
FhLst 1.00 | 0.00 ~ 4.53 56.45 | =nLs | 0.oo ~ 000\ 1.567 8.38 FhnLst 1.00 | 6.00 ~ b6.00 56.45 | =S | 5,00 ~ 6.00| 1.67 838
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.49 56.02 | =ns | 000 ~ 449 2.05 10.99 FhnLst 1.00 | 6.00 ~ b6.60 56.02 | =nst | 5,00 ~ 6.60| 2.06 10.99
3 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
FhLst 1.00 | 0.00 ~ 4.59 57.21 | #nst | 000 ~ 459 | 1.88 10.08 FhLst 1.00 | 6.00 ~ b6.00 57.21 | #ns | 5,00 ~ 6.00| 1.88 10.08
100kN/mM%#BZ. 5 ~ 3ImERBAD ~ 100kN/m##8% % ~ IMEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ IMEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhst ~ ZhLst ~
100kN/mM%{8Z. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ st ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~

D
H
Tl



